
Divreses Mesures des Triangles (J)

Calculez les mesures manquantes pour chaque triangle.
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P = 44,4 dm
A = ? dm2
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P = ? dm
A = 2,025 dm2
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P = ? nm
A = ? nm2
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P = ? mi
A = 7,98 mi2
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P = 59,9 nm
A = 112,545 nm2
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P = 26,1 m
A = 32,37 m2
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Divreses Mesures des Triangles (J) Réponses

Calculez les mesures manquantes pour chaque triangle.

1.

12,4 dm
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P = 44,4 dm
A = 84,32 dm2

2.

1,5 dm
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P = 9 dm
A = 2,025 dm2

3.

14,9 nm
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P = 45,3 nm
A = 98,34 nm2
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P = 13,7 mi
A = 7,98 mi2
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P = 59,9 nm
A = 112,545 nm2
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P = 26,1 m
A = 32,37 m2
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